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x = kr − lπ/2 + Z ln(2kr)/k + δl, δl =arg Γ(l + 1− iZ/k) . -����.�0 	
��������

E�
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 � �� µγnl = n − n∗� �
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σphi(ε′) =
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n∗(Inl/Ry)
(1 + ε′(n∗)2)3

∑
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×

×
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 ��95 ��

���2�6 
24 '9%��2 ��3 � '��2� $
���� ����� � ��5�
�
���� 5��� ��4
�5 ' ��
4�� ��
�71� �� � ��� ���246�� �� ε′y � n∗ 
24 ��5�8
 ��4
���% ��3 �$��6�3 G � χ ��� ���
 8$��%�95 ���% ��45 ����
 ���'�
�
���  ��27��'��7�4 ��������
�6����9
� ���
$2�
� 
24 :��5 �$���
6�3� �� 
���'�
 �5 ' '�
 

Gll′(n∗, ε′) =
3∑
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 �7K 3% ��� βi > 1� ]��% ��4
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Nν =
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2hν3
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���
� �������7 '9�$8
 ���3 ����� ��
����6��

Bci =
∫ ∞

0
σ���i (v) v f(v)Nν dv. -������0 	
����

� � 3
4 � ������'9
  
���6�
 � ���
 2�' �����9 �� ������'���4�



)
�
 *�
���������� � ��
������ ������ >	

��2$%�


Bci =
c α3

2
√
π
· gi

g+
·
[
Ii
Ry

] 3
2

· β
3
2
i J (βi, β

∗
i , τ

0
i ), -������0 	
��������

�
 ��� ���2

J (β, β∗, τ0
i ) =

∫ ∞

0

(1 + u)2 e−β u σ��� (u)e−τ0
i fi(u)

eβ∗ (1+u) − 1
du . -������0 	
�;)(���*
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Bci(T�) ≈
T�

T� + T∗
e−β∗

i αi(T�). -�����>0 	
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i>1 αi
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δ

1 +Atδ
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δ =
(p1 − p0) p′ t

(p − p0) (1− p) , A =
p− p0

(p1 − p) tδ
.
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′
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T

104
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∫ ∞

ν0
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σ���i (ν)
4πJν(T∗)

hν
(hν − hν0
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J (β∗i , τ
0
i ) =

∫ ∞

0

u(1 + u)2σ���i (ν) e−τ0
i fi(u)

eβ
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���;

��
���'�
 ' '9��8 �� -
�.�
�A
��	�	0 ���2�8 �� -

-.�� (�0! 
����	�0� ���
�

J (β∗i , τ
0
i ) = σ0

2∑
k=0

B
(i)
k

[
Qf

k(β∗i , τ
0
i )−Qf

k+1(β
∗
i , τ

0
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]
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0
i ) =

∫ ∞
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i fi(x)

xk (eβ∗
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 x = 1 + u = hν/Ii� ?$��6�4 fi(x) ����9'� � %������$1 ��'����
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εi c =
Gi c

Bi c
= ϕick�T∗,

�
 ϕic � � ����
 ��93 ����
 �� ���4
��  
���69� � ����2�8 ��� ����
��5 � 
� ���$� ��� β∗i � 1 � τ0

i � 1 2 ��� ��2$%��7� %��

Gic ≈ Bic k�T∗ , εi c ≈ k�T∗.
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0 01+

T∗/104 K n = 1 n = 2 n = 3 n = 4 n = 1 n = 2 n = 3
���� 0.00E+00 0.00E+00 5.36E−15 4.52E−12 0.00E+00 0.00E+00 0.00E+00
���� 2.57E−18 5.94E−09 1.27E−07 2.12E−07 0.00E+00 1.40E−18 1.75E−11
���� 7.09E−11 1.08E−06 2.43E−06 1.85E−06 0.00E+00 3.83E−11 7.05E−08
	��� 7.09E−07 2.63E−05 1.89E−05 9.54E−06 1.64E−16 3.80E−07 8.10E−06

��� 2.08E−05 1.02E−04 4.97E−05 2.15E−05 1.35E−11 1.11E−05 5.28E−05
���� 1.31E−04 2.33E−04 9.18E−05 3.66E−05 4.53E−09 6.91E−05 1.55E−04
���� 4.30E−04 4.13E−04 1.43E−04 5.41E−05 1.63E−07 2.26E−04 3.23E−04
���� 1.01E−03 6.40E−04 2.02E−04 7.36E−05 1.90E−06 5.27E−04 5.57E−04
 ��� 1.93E−03 9.07E−04 2.68E−04 9.49E−05 1.14E−05 1.01E−03 8.54E−04
���� 3.24E−03 1.21E−03 3.40E−04 1.18E−04 4.53E−05 1.68E−03 1.21E−03
���� 4.97E−03 1.55E−03 4.17E−04 1.42E−04 1.36E−04 2.57E−03 1.63E−03
����� 7.12E−03 1.92E−03 4.98E−04 1.67E−04 3.33E−04 3.68E−03 2.09E−03
�	��� 1.27E−02 2.75E−03 6.74E−04 2.20E−04 1.33E−03 6.55E−03 3.18E−03
����� 2.44E−02 4.17E−03 9.65E−04 3.07E−04 5.73E−03 1.25E−02 5.14E−03
	���� 5.21E−02 6.95E−03 1.51E−03 4.65E−04 2.75E−02 2.64E−02 9.16E−03

���� 1.34E−01 1.37E−02 2.75E−03 8.19E−04 1.62E−01 6.75E−02 1.94E−02
����� 3.81E−01 3.03E−02 5.66E−03 1.63E−03 9.23E−01 1.90E−01 4.61E−02
������ 1.31E+00 8.27E−02 1.44E−02 4.00E−03 5.69E+00 6.49E−01 1.35E−01
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n� Li(T�) = n�

∫ ∞

0
σ���i (v) v f(v)

mv2

2
dv . -��	��0 �
A'�

]
 �7 Li(T�) � �������7 ��� �� :� ���� ��� � ��
����6�� �� $��' �7 i
-�������7 � ��
����6������� �52�8
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Li(T�) =
c α3

2
√
π
· gi

g+

[
Ii
Ry

]3/2

β
3/2
i Ii L(βi), -��	�>0 	
�4���

�
 

L(βi) =
∫ ∞

0
u (1 + u)2 e−βi uσ���i (u)du.

�24 ���2���% ����� �� 
���'2 ��4 � % ��3 -
-.�� (�0! 
����	�0

L(βi) = σ0 e
βi
∑

k

Bk [Ek(βi) − Ek+1(βi)] . -��	�,0 	
�4����&

��
���'244 ' -
-.�����45
��	�,0 ���
�����% ��� ���2�8 �� ��� ���27��3 :�����

� ��9� ��2$%�
 ��� βi � 1

L(βi) ≈ σ0
i

1
β2

i

,

%�� ����%� �� %�� ' ����2�8 ��� �����5 � 
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����7 � ��
����6������� �52�8
 ��4 � ��'���� �� ������� ���������
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L(T�) = µα k�T�,

�
 α W ��2��4 �������7 � ��
����6��� µ W � ����
 ��93 ��:���6� ��
������6����27������

;�� 
 2�
 ���8 ' 2�%��$

q = q(T�) =
L1(T�)
L(T�)

W 
�21 �������� �52�8
 ��4 ��� � ��
����6�� �� .�3 $��' �7 ' ��2�
��3 �������� � ��
����6������� �52�8
 ��4� � 2�%��� q(T�)� ��� 8 
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��� �� E���
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�����5 � 
� ���$��5 ' 2�%��9 p � q ��� 
4��4 � �
��
$ ���
������
% ���
$ ���% ��1 p0 ≈ 0.2� ' �� '� 
4 ��� ���
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��8�� 24 µ = 1� ���
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� ���2�

�
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ci =

∫ ∞

0
σ���i (v) v f(v)Nν dv.

��
���'�' ' '9��8 �� 
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Nν = W e−τν
1

ehν/k�T∗ − 1
. -��	�/0 �
,
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ci =WL'!

ci=W
cα3

2
√
π
· gi

g+
·
[
Ii
Ry

]3/2

· β3/2
i Ii e

β
∑

k

Bk · H(βi, β
∗
i , τ

0
i ) .

-��	�.+0 �
5B'

]
 �7

H(βi, β
∗
i , τ

0
i ) =

∞∫
0

u (u+ 1)2 σ���i (u) e−[βiu+τ0
i fi(u)]

eβ
∗
i (u+1) − 1

du. -��	�..0 �
5C'
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H(βi, β
∗
i , τ

0
i ) = σ0

i

2∑
k=0

B
(i)
k

(
Sf

k (βi, β
∗
i , τ

0
i )− Sf

k+1(βi, β
∗
i , τ

0
i )
)
, -��	�.�0 �
����

�
 

Sf
k (βi, β

∗
i , τ) = eβi

∞∫
1

e−[βix+τfi(x)]

xk(eβ∗
i x − 1)

dx.
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Sf
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i , τ) ≈ Ek(βi + β∗i ) ,
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�%%%% 8.5 · 10−9 3.0 · 10−8 2.6 · 10−8
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e−βZ,Z���
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 βZ,Z��� =
IZ,Z���

k�T
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F (x) = A(1− β f1(β)) +B(1 + β − β (2 + β)f1(β))
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e−tx dt
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e−tx ln(t)
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t
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q1c(T�) = A
10−8q [IH/I]

3/2√β
β + ξ
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������ �����,������
����������
�(

��:2 �������4 � ��
����6�4 a � ��
����6�4 ��2�8�� 27���� ����
� :2 ������ % � � ������'��� ���
 8$��%�95 �'��������6����95 ���
���4��3 a ���6 ��� 
�'�� ��' ���93 ' ���
��3 ����� � #�� ��27�� ��%��
��4 � �����9 ��� �
8 ��

%#�(������@
I�/J �������� ���%�� 27��4 -����
� ��� 
 24�

1<�40 ��27 
�:2 �������3 � ��
����6�� ' $�����'2 ��� ������6����
���� ��'��' ��4 ���4% 3 -T = 105 ÷ 107 z0 �2��
9� ' %�������� �2��
9
��2� %��3 �����9

%� (�
�����+
I.�.J� ' ������'���� ��� 22���' 2���3 
�������4
�

�95 ����' ' �� ����5 ��2� %�95 '��9K �� 2�� ���3 �2��
9� �2��
9
����
���' � ��
�

��������+�
I..>J� #� 
�����  �	
� ���6 ��� 
�:2 �������3 � ��
�

����6��

((n+1)+ + e→ (n+ ∗
j → (n+

k + hν . -��.�.0 	
��������

�����$ ��4 �'��������6����� �����4�� (n+ ∗
j -�
� ����

0
(��75�
�	0� _2 �����

��5'��9'� ��4 ����
 ((n+1)+ ' ����'��
 �����4��� m0 -�
� ����
, (���!��< �����
��.0�

��� :��
 :2 ����� ����
� � �� '���$8
 ��93 $��' �7 k = nl � �
���
'� 
 ��� �����5�
�� � � 5�
 m0 → m ���� ((n+1)+P ((n+1)+(m0) + e→
(n+(m)�

;�����'�'K  �4 �����4�� j = mk ���� @n+ 4'24 ��4 �'��������6��
���9
� "� :���� �����4��4 '��
�8 � 2��� ������93 � � 5�
 ' �����4�� 
� �� �9'���� �� ����P (n+(mk)→ X(n+1)+(m′) + e -�'��������6�4� �
 
m′ W ����'�� 2��� '���$8
 ��� �����4�� ���� ((n+1)+ � :� ��� 3
Em′ < Em0� 2��� � � 5�
 ' �'4����� �����4�� ���� Xn+

k -�����' ���

�:2 �������4 � ��
����6�40� ��� :��
 � � 5�
 -������  �	
 ���6 ��
�� 
�:2 �������3 � ��
����6��0 �����5�
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 �'��������6������� �����4��4� ;
�� �� '���$8
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k
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m
m0

Wjk

a

Wjk

r
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���
��	�� 
���
���  ���
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�����	����� ����������������
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 ������
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�:2 �������4 � ��
����6�4 W � :2 
 �����93
���6 ��� � ��'��$�����7 ��5'���' '� '� '��
�8�9 �'��������6����9 
�����4��4 � ���2 
$1<�5 � � 5�
�' ' �'4����9 �����4��4 � ���$����
�� 
 :2 ����
��������� ��2$% ��4 -��
����'��4 �����2���6�4 �'�����
����6����95 �����4��30� ]�5'�� :2 ������ ' �'��������6����� ������
4�� �
  � � �������93 5����� �� �������7 ��5'��� ' j� �����4�� �
:� ��� 3 '���$8
 ��4 ∆EjP

κ$�
jm = f(∆Ej)

√
2m�∆Ej

∞∫
0

σ$�j (E)dE . -��.��0 	
�.�"������&
������

]
 �7 E W :� ���4 :2 ������� f(∆Ej) W ���% �� �$��6�� ����� 
 �
2 ��4 :2 ������' �� :� ���4
 E = m�v

2/2 -�����$1 
9 �%��� 
 
����
' 22�'���3 � :2 �������3 � 
� ���$��3 T�0 ��� :� ���� ∆Ej � !�%����7
���% �� � % ��3 ��5'��� ' �'��������6����� �����4�� W σ]2j (E) ' ���
���4<  '� 
4 � '9����� E��2�%�4 :��� ��
 ���27�95 � � �� ��% ���5
� % ��3 
24 ����' 
�$��5 :2 
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�������7 ���4
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�9
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I	/J� ��������9 �� E���
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0��555
��� ����%�����9 � :��� ��
 ���27�9 � �

% ��4 
24 ���� O+ ���5�
4��4 ' ��2���� �����

5���� ���
�
�� �������
���� 
�����������

�������7 � ��
����6�� % � � ��5'�� ' ��� 
 2 ��� �'��������6��
���� �����4�� j ��'��

α$�mjk = κ$�
jm

W �
jk∑

m′
W #

jm′ +
∑
k′
W �

jk′
= κ$�

jmBjk , -��.�	0 	
��������/

]
 �7 W #
jm′ �������7 �'��������6�� � ������'��� 
 �����4��4 m′ ����

((n+1)+b W �
jk′ W �������7 ��
��6������� � � 5�
� ' �'4����� �����4�

�� k′� )��8�� 27 Bjk W ' ��4�����7 ����� %�� � � 5�
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 �
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� ��
����'��3 �����2���6��� �24 �2��
9 � 
���' 22�'���
 ����� 
 �
2 �� 
 ������� 3 :2 ������' �� ����6��� 
 ��27���� ��2���� �2 
$ �P

κ$�
jm =

h3

2(2πm�kT�)3/2

gjW
#
jm

gm
e−(∆Ej/k�T�) =

=
4π3/2a3

0

(k�T�/Ry)3/2

gjW
#
jm

gm
e−∆Ej/k�T� . -��.��0 	
�����"�����

��2��4 �������7 
�:2 �������3 � ��
����6�� ��� 
 24 ��4 �$

����
'��� 
 �� '� 
 '���$8
 ��9
 �����4��4
 m ���� @(n+1)+ � '� 
 �'���
������6����9
 �����4��4
 j 
24 ��8
��� $��'�4 mP

α$�(T�) =
∑
jk

α$�jk(T�) =
∑
jkm

xm α$�mjk(T�) , -��.��0 	
�����"�������
�

�
 xm = nm/
∑

m′ nm′ a ����K �� ��� 2 ������ $��'�4 m � ��2��3
���6 ����6�� ���� ((n+1)+� ;�9%�� 
�8�� ������%��7�4 ��27�� ��8�
��
 $��'� 
 m0 ���� ((n+1)+�

�������7 ��� 2 ��4 $��'�4 j ��� 
�:2 �������3 � ��
����6�� ����
@(n+1)+ -:�� ���'��4 �������7 � ��
����6�� �� $��' �7 j0 �����'24 �

α$�i (T�) =
∑
ki

Qkiα
$�
jk . -��.��0 	
���"�������'��

]
 �7 Qki a :2 
 �� �����
��3 
����69 ��
��6����95 � � 5�
�'� ��� �

 24 
�3 � �$�� ���9
 ������K �� 


Qik =
i−1∑
m=k

PimQmk , Qkk = 1 , -��.�>0 	
������������

�
 Pim = τiAim W ' ��4�����7 ����� %�� ���
� ��5�
4<�3�4 ' '���$8�

 ���
 �����4��� i� ��2$%�� �'��� ' 2���� i→ m� �24 ���������% ���5
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�295 ���% ��45 T�
��� 241��4 ��27�� �����2 8�<� �'��������6����9 $��'��� ��� '9�
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�:2 �������4 � ��
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� ���% ��4
� �2�'���� �'����'��� %��2� $��'�
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�' � �'��������6������� �����4��4 -%���� ��'��4� � ����
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W #
jm =

2π
h

∫
Ψj(τ)V̂Ψ∗

m(τ)dτ , -��.�,0 	
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 Ψj(τ) � Ψm(τ) � '�2��'�4 �$��6�4 ���
� ' �'��������6�����
 ������
4��� j � '�2��'�4 �$��6�4 ���� 
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�93 :2 ����� ����' ��
��' ���b V̂ =
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i<j e
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�#���
#����+�
I�>JP

W a
jm =

gm0
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πa2

0

]−1 ∆Ej
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=

= 1.316 · 1016Z2
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Ωl
m0m
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�'�� 27���� 3 # � [\� CT� O� D� h� DT Dc� Oc �
�� 
� ��27K� %��2� ��92�� �� ��$�2���'���9 ���%S�9 ��
 �8���4 '
������5

��������+��7�+@
I..>� �+J�

� ��2���� � 
� ���$� 104 ÷ 106 z �������7 
�:2 �������3 � ��
���
��6�� :����� �6��27�� '������� � ������6����27�� $' 2�% ��1 
���
8�� 2 3 exp[−∆Ej/(k�T�)]� ��� ��27K�5 ���% ��45 T� � 
����8 ���
$�2�'�4 exp[−∆Ej/(k�T�)] ≈ 1 
24 '� 5 �'��������6����95 $��'� 3 ���


 
2 ��� $�9'� � ������6����27�� T
−3/2
� ���2���� -

-.�<��
0��
��
��.��0�

���6 �� ��
����'��3 �����2���6�� �'��������6����95 �����4��3
�����'�8
� ��4 ���$����� 
 �'����' ' 2���45 � � 5�
�' mk → m0k�
_�� 2���� ��9%�� ���9'�1� 
�:2 ������9
� ��� 22���
� -��$������

�0 2���� m→ m0� ��� 22��9 -��9%�� � ��������3 2����0 �
 1� 
2��
�9 '�2�� �2���� � 
2���
 '�2� ����' ���'$1< 3 2���� ���� (n+� �24
�221����6�� �� E���

, (��
����,�FF5:
��	 ���' 
 � �� ��� ��� 22���95 2���3 � �������

��3 W 1s2 1S− 1s2p1P ◦ � ��� ���
����6�����3 W 1s2 1S− 1s2p1P ◦ 2���3
� 2� ��
������ ���� 8 2 ��� �����
2 8�<�5 � � 5�
�
 1s2nl− 1s2pnl�
"�� ���'����7 ��� 22���' ��� 
 24 ��4 ��� �������71 
�:2 �������3
� ��
����6��� ��� � �5 '���$8
 �� 
 :2 ������9
 $
���
� ;���K �
�� ��� ���'���� 3 2���� m→ m0 ���� � �$

����3 ��� ���'�����   
��� 22���' ��27�� ��'���� �� ���% ��4 T� � 
�8 � �2$8��7 
24 ��� �

 2 ��4 :2 �������3 � 
� ���$�9 ���4% 3 �2��
9� �����
 �� �2��
9
��2� %�95 '��9K ��
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n=3-16:
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K

Te = 2.10
7
K

Ti = 5.10
6
K

Te = 2.10
7
K

I ,  произв.  ед.

а) б)

,��� #��� �

��� ���
������ �
(�	�	�	�� ?1s2 1S−1s2p 1P ◦@ ?�@ � �	�
������	����	-
	�� ?1s2 1S − 1s2p 3P "@ ?�@ ��	�� �
��

� ��	��� ��	� R̂23+ 
�� ��		�� �
�

�����


T1 = 5 · 106 S � ��
����		�� �
�

�����
 T� = 2 · 107 S� ������������HH&.

;�
 ��
� %�� ���
 ��� ���'�95 ��� 22���' � �������95 2���3� ���
��' ���'$1<�5 �����2����$1<�
 � � 5�
�
 mnl → m0nl ' �� ����5
����' �� D� ; � 
�$��5 :2 
 ���'� ����$���'$1� � �2��9 ��� 22��9
� ��
����6����95 2���3 m → m′� ����' ���'$1<� � � 5�
�
 mnl →
m′nl� )����%��2 ��9 ��� 22��9 ������ ���� ���21
�1��4 ' �� ����5
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5���� -�
���� 3�
�#�
� � �� �����������

��4
�3 ���% � �������� 
�:2 �������3 � ��
����6�� �� ���
$�
2 -

-.�<��
0��
������
��.��0 �� �$ � ��$
�S
��5 �'����'�
 5���% ���5 '9%��2 ��3� "����

:���� K����� ����������� �� ��2$%�2� ���2�%�9 ��2$:
����% ��� 
���
$29� #����2  ��' ���� �� ��5 ���
$2� � �
8 ��

%#�(������@
I�/JP

α,(T�) = 3.3 · 10−3T−3/2
� B(z)

∑
m

fm0mA(x)e−q∗Emm0/[a(z) T�] , -��.�.+0 	
��!���
����

�
 fmm0 � ��2� ��6�224���� � � 5�
� m0 − m ���� ((z+1)+� �
 m =
γnl� m0 = γn0l0� γ W ����� �'����'95 %�� 2� ����9'�1<�5 �����4�� 
���
���� �������� z + 1 = Z��� W ���4
 ���
���� �������� �

A(x) = x1/2(1 + 0.105x + 0.015x2)−1/2 ,

a(z) = 1 + 0.015z3/(z + 1)2 ,
B(z) = z1/2(z + 1)5/2(z + 13.4)−1/2 , -��.�..0 	
��!���
�����"����

Emm0 = Em − Em0 = (z + 1)2Ry εmm0

x = (z + 1)εmm0 .

]
 �7 T� ��
 �4 ��4 ' � 27'���5b Emm0 W ' ������95 �����
 ���5b εmm0

W �������7 ������95 �'�
����' :�� ���'�95 �2�'�95 �'����'95 %�� 2
�����4��3 m � m0� q

∗ = 1.43883�
�24 �6 ��� ������� 3 �'��������6�� ' ���
$2 � �
8 �� ����27���

'��9 :�������2���'���9 � % ��4 :2 ��������� ��5'��� ' ����2�8 ���
'�� E 8 
��� ��

5	
��	����
I.+�J� # �
�������� �� 
�����
�2��7 ���9��� $��%�

� ��4 ���
$29 � �
8 �� -�
� �����
 �� �����9 I/�� ..�J0� `�< '� ��
����27�$ 
� $��%� �� � ���
$2� � �
8 ���) ��6�� ' ������3 �� ���
��'���� $��%� ��4 ����2�8 ��4 '�� E 8 
��� �� ��� ∆n > 0 �
 2���
�2 
$1<�4 ��
 �� I..�JP

A(x) = 0.5x−1/2(1 + 0.210x + 0.030x2)−1/2, ∆n = n− n0 , -��.�.�0 	
��)�*

# �
���4 �� ��� %�� ' �4
 �2$%� ' ���
$2� � �
8 �� 
� � �K���$ '
���% ��� �������� 
�:2 �������3 � ��
����6��� 
������1<$1 ���4
��
' 2�%��9� ��� ���
�28� � K����� ����27��'��7�4� ;�K����4 �'�
��
���% ��' �� :��3 ���
$2 ���' 
 �� ' ����� 

7�&��	
�& ��.# (�������
I./J�

� ����� 
:
 ��!�� ���+�
I.��J � �$27���9 %��2 ��95 ���% ��' ������� 3 
�:2 ������

��3 � ��
����6�� �� 
���'2 �9 ' ���2���% ���3 ���
 P

α$� = 10−13Bdβ
3/2e−β ξd -��.�.	0 	
���"�����������

��� :��
 β = (z + 1)Ry/(k�Te)� � ���2�
/
����� %��<��
���
��. ���' 
 �9 ����
 ��9 Bd �

ξd 
24 ������� 3 
�:2 �������3 � ��
����6�� [\� � CT���
���95 ����'
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*
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��(���4�����������

Z + 1 9�� Bd ξd
5 AQ %�%0" ���#

AQ+ %�%�1 #�0"
0 S3+ %�%5% ���5

S4+ %�%�� ��0�
�% SQ6+ %�%�1 0���

SQ7+ %�%�" ��5�
�" G11+ %�%�1 ���0

G13+ %�%�% %�#"
�% BY16+ %�%�5 ��%1

BY17+ %�%%0 %��0
�" Z[21+ %�%�� ���5

Z[22+ %�%%" %��5
�% \[26+ %�%�� ��5�

\[27+ %�%%5 %��#

% � � '���$8
 �� � ���������� � � 5�
� 2s − 2p � 2s2 − 2s2p ����' ��
��' ���� ����%�����9 '

:
 ��!�� ���+�
I.��J�

� ���21% �� :���� ���
 2� ������'�
�4 �� '2�4��� ����$���$1�
<�5 ���6 ���' �� �������7 
�:2 �������3 � ��
����6��� !��� ���6 ��
�9 -� ��
 ��������4 ����������6�4 �2� ����'���$8
 �� �'���������
6����95 $��'� 30 $
 �7K�1� ��� 2 ������ �'��������6����95 �����4�
��3 �� �2 
�'�� 27��� ���8�1� �������� 
�:2 �������3 � ��
����6���
��� :��
 
��8�� 27 W �/(W � +W #) ' ���
$2 -

-.�<��
0��
��
��.��0 ��
 �4 ��4 
���

8�� 2 
 W �/(W � + W # + W �)� �
 W � a �������7 $5�
� :2 ������ �
�'��������6������� $��'�4 ' � �$27��� ����$���$1<�5 ���6 ���'�

E�27 ����$���$1<�5 ���6 ���' 
24 '9����� 
� ���$��95 � � 5��

�' ��� 
�:2 �������3 � ��
����6�� ����
��� �� ' ����� 

%� (�
�����+
I.�.J� ���

T� ≤ 106 z � n� ≤ 1013 �
−3 ����$���$1<� ���6 ��9 ������% ��� � 
'2�41� �� �������7 
�:2 �������3 � ��
����6��� � �2����3 �2��
 
�������7 
�:2 �������3 � ��
����6�� �2 
$ � ����%��9'��7 �$� 
 � �
K ��4 $��'� ��3 ��2���� ��� 2S����� 3 �'��������6����95 �����4��3�

5���� 0������
����� 
����������� 	
� �����' ���	�
��

��
�'

� ����� 
��������+�
I/+J �92� ����< �� '��
��� �� '�8����7 
�:2 ������

��3 � ��
����6�� ��� ������� 27�� �����5 :2 ������95 � 
� ���$��5
-T� = 103 ÷ 105 z0 ����' �� D� ;� D � 
�$��5 :2 
 ���'� �
 1<�5 ����
��2 8�<� �'��������6����9 $��'���

��� ����5 � 
� ���$��5 
�:2 �������4 � ��
����6�4 ���5�
�� �2�'�
�9
 ������
 % � � $������9 $��'��� �$< ��'�'��� �����2 8�<�5
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 ��4 ���4
�� 0.1 − 1 :� �� �� %�'� � ����
%�� 27�� $' 2�% �� �������� 
�:2 �������3 � ��
����6�� ��� ����
��5 :2 ������95 � 
� ���$��5� �������� 
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' ������ 
� ���$���
 �� 
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 241��4 ���
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���'��� �����������4 ��4 ��27�� �� �����'���$8
S��9 �'�����
����6����9 $��'��� 
24 �����95 
��8�� 27 exp(−∆Ej/(k�T�)) � 
�2�

Σ

3 4 5
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-12
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lg α

lg Te

αн

αв

αФр

,��� #�5� �������� �
�����	���� ��	� 62+� 3�	���� ' �������* 4����
�����	����9
&����-
�	���� ' 	�(���
�

�����	�� :���* ��������  ���
����		�� �
�����	����
!"BK$9 ��:
:	�� ������ ' �,�����
�

�����	�� :���* ��������  ���
����		�� �
-
�����	����+ ����:���		�� 
� 4�����
 V
� )
�� �( �����, !"UM$+ �
��&	�� ������

' ������	�� �������* �
�����	����� �����&&&���
�

� ������5
�#���
#����+���#���
#����+���#���
#����+���#���
#����+�
I�>� �,� >+� >.J ���' 
 �9 � �$27���9 ���% ��' ������� 3

α$� 
24 ����' �� D� ;� DT� )Z� N�� B\ ��� � 
� ���$��5 103÷6·104 z� E���
�%����9 ��� ��2�9 �������� α$�� ��� � ���% ��4 ������� 3 
�:2 ������
��3 � ��
����6�� 
24 ��
 27�95 
 �������27�95 $��'� 3� � ���8 :��
� ���'�9 ��:���6� ��9 � ��
����6�� α$�ki 
24 �����2  ��� ���'�95
2���3� �����$ 
95 ��� :��
 ���6 �� � ��2��4 �������7 
�:2 �������3
� ��
����6�� �� 
���'242��7 ��������
�6�����3 ���
$2�3 -' �
3|�0P

α-". = 10−12
(a
t

+ b+ ct+ dt2
) e−f/t

t3/2
, t = T�/104 z . -��.�.�0 	
����
7���"
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-.�<���>/��0
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α!"! = α-". + α��/� + α��� -��.�.�0 	
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���������� 
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�����-
	���� ��	�� 6+ <+ W+ <R+ _� � F`+ t1 − t2 ' �	�
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4 S+ �
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���
 ���� �

���������� ?
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M�"�"B@+ Y ' �������*  ���
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�����-

	���� ?��3Y�@ 
�� T� = 104 S�
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�4
7�����������""�

a�	 t1 − t2 a b c d f Y · 1012
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· · ·
xN

⎞
⎠ a ' ���� ������� 27�95 ��� 2S����� 3 $��'� 3 ���
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⎧⎪⎪⎨
⎪⎪⎩

−(Aki + n�qki), i < k,
k−1∑
i=1

Aki + n�
N∑

i�=k

qki, i = k,

−n�qki, i > k.

->���.,0 	
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�
� ���


��� ' 2�%��9 n((m+) a ��2��3 ���6 ����6�� ���� (m+� � ���� 
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�
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)
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'���$8
 ��4 :2 ������9
 $
���
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���7 �� n� 4'24 ��4 
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���7 q�%ki = q�%ki (T�, n�) �� n� 
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$27���2 ��

OAAAλ 1907 (2s2 1S − 2s2p 3P ◦) ��� T� = 104 z� "� ���$��� '�
��� %�� ���
����%�95 
24 �$
������ 3 �����5 :2 ������95 ���6 ����6�45 -n� �
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>����+0�

ne (см-3)
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(T
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)

CIII  λ =1907

Te = 104 K
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����	,� ���44���
	� �����	����
�*	��� ��(��) 
	�� q�%ki (T�, n�)

;J  ���
�� 6QQQλ 1907 (2s2 1S − 2s2p 3P ◦) � (���������� �� n�� �����&&&5F>I	 � ��	���"�
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���� �� ���#�

?���������6�4 ���
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 �� ���6 �� ����������6�� ���� h+ � ���9'�
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h+(1s22s22p3 4S◦) + hν → h2+(1s22s22p2 1D1S) + e . ->����.0 	
���&����

� :��
 ���6 �� �����$ ��4 ��� h2+ ' '���$8
 ��95 �����4��45 2p2 1D2

� 2p2 1S0� � � 5�
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�' 2s2p3 − 2p4 � 
2���
� '�2� ' ��� �'�2 
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�*	,� ���		,� (����		,�
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���� ����������� ������
�!� T2�

�

"�� λ(gN) � � 5�
 T2�
OAAAJ∗ ./+>x./+/ 2s2 1S − 2s2p 3P ◦ >�++
OAw .��, 2s2S − 2p2P ◦ /�++
hwA .+	� 2s2S − 2p2P ◦ .�+++

DTwAJ .++> 2p2P ◦ − 2p2 4P ..+++
∗:*;2 � )��4+ �)+2����2�)6<+�2�=� �6
>�4; 6�*; �?*;<;+�@

<�� 46*6A B46*66C 6�*; A>4A+��A 6*�+�2�
D6*;E6�**�F��(�������

6
3
6
.2

5

6
3
5
.9

9

3920.69

3918.98

,��� 0�"� ��
�� ����(���	�� �������		,� ��	�� � �
(��*���
 	
�
(�	�	�	�� 4���-
�
��
	���� �������,������

' %������5 2���3 � � 5�
�' �� ����'��3 $��' �7 
������%�� ' 2���� ��
����'���$8
 ��4 ����'���� �����4��4 ' ���%�� 27��3 �� � �� ��� 
 �
241� ��� 2 �����7 $��'� 3� �'4����95 � ����'�9
 �����4�� 
 ���� �
K ��9
� � � 5�
�
�� ���2 �� 2���3 ��� ����'���$8
 ��45 ����'���
�� �����4��4 ���9'� ��4 �������������� ��!	������ ������'���4 2��
��3� ����2�8 ��9 �6 ��� :�� ���'����� :���� 
 5����
� '9��2� �9
' ����� 

��
�& ��
I��J�

�� ���$ '���$8
�1< �� ��2$% ��4 
�8�� ���
 2��7 �2$�� �6 ��
6�1 �� �������	����� � �����	������ ��� � � ��������3 �2$�� �6 ��
6�� ����'���$8
 ��4 �����'�
4��4 ��2$% �� 
 ����%���� �����$1< �
�� ��2$% ��4 -6 ����27��3 �' �
9 �$
�������0 ' � �� �9'��
 �� ��� �
#� E���

, (���!�����,�
>�� �������� �5 
� ������'���4 :
�������95 2���3 ��� �2$��

� �6 ����
 '���$8
 ��4� � �� ����5 ����'95 �$
������ 3 � � �������
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 ��	��+ &������,�� L ����	��-
���
 ��	��+ &����-
�	����	,�� L ��	��+ ����(�
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�� 

�
(��� �
 W3+d/� 3�-
��(�	� (��
�
	�
 �
��	
�� ����	� ����	������ 

�
�� �� 2p3d 3P ◦ ���	���� � �
(�-
	�	�	�� ��	�� eα /R+� ���
����� ���
:
	, ����	�+  �� �����,� ���
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�
(��� �� W2+ + /→ W2+ + /+ � 	��
��		����� ����+&&&���4�'

��4 �2$�� �6 �6�4 ��� 
 24 � ��� ���'����7 2���3 OAAλ -	/./x	/�.0
� OAwλ -�,+.x�,.�0�

&
+���
 0��� .
��
��:
���
 �	�
	���	���� ��	�� W2++  �� �����,� ���
���
	
	

���� 

�
(��� �� � V���	������� �
��	�(�� ?I!��"�@+ � ����	
	�� � 	���> �
�,��
� �

���
 ����		���� <f6XMM# ?I"8'@ � &���
 I(/β) = 100 �(��+&&&����
7����

I!��"� I"8'

3
�
(��� �� V���	������ ������	�� <f6
λ?b_@ �
��	�(� �	�
	���	���* XMM#
7XPX U�BB U�UB U�B8 0.8 ± 0.4
7XXB U�7B U�U7 U�7X 0.4 ± 0.2
77B" U�"P ## ## 22± 5
77"# U�UK "7 "7 12± 3
7XMU U�8 P�K M�X 7± 2
7XPP U�M U�8 "�B 2± 1

# � ��������4 �2$�� �6 �6�4 
 3��'$ � 
24 '� 5 ���
�' � ����' �
��
5�
4< 3 ���$��$��3 $��'� 3� � �� 8 '� 
4 
24 ���� h2+ �$< �
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 ��4 $��'� 3 W � ��������4
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0
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� ����'��� �� �2������ 
2�� '�2� � ��������3 2���� XTAAλ 	+�gN �
2���3 
$27���2 �� hAAA 2p2 3P − 2p3d 3P ◦� ���'�� � �
� 2p3d 3P ◦ h2+

��� 241��4 ��� � ��
����6�� ���� h3+ � ���2 
$1<�5 �����
�95 ���

��6����95 � � 5�
�5� ���2�< �� ������' ' � ��������3 2���� XT+

����
� h2+ ' ����'��
 �����4��� 2p2 3P ���'�
�� � 
���2��� 27��
$
��� 2 ��1 $��'� 3 2p3d 3P ◦

1,2� L���� � � 5�
�' � :��5 $��'� 3 � � $��'�
� 3� �'4����95 � ��
� �����
�9
� ��
��6����9
� � � 5�
�
�� ����9�
'�1��4 ���%�� 27�� $��2 ��9
� ' �� ��� ���������% ���5 ����%���
��'� ��
 �8�<�5 
������%�� 
���� ������'������ � 2�4� ' %��������� '
�� ����5 �2�� ����95 �$
������ 3�

�24 �221����6�� �� E���
, (�6555��!��	
>�� �� 
���'2 �� �5 
� ����2 ��95 � ��


�' ���� hAAA � ��
 % �9 2����� ��� 24 
9 ��$:��'���
 
 5����
�
�
����2��� 27�9
 ����%����
 '���$8
 ��4 2���3 
�8 � �9�7 ���6 ��
� � ���4
��� #����
 �� � � ���4
�� h3++X→ h2+(2p3p 3S 1,3D)+X++
∆E �����5�
�� � ������'��� 
 ���� h2+ ' '���$8
 ��95 �����4��45�
���'�� ���� h2+� 
24 �����95 �$< ��' � � '�2�
 � � ���4
�� h3++X�
��
 % �9 �� E���

, (�6555��!��	
>�� ��� 2��
��

� !��2�
����6555���%�>�!/�
>�	 ���' 
 �9 ������� 27�9 '�2�
9 � � ���4
�� � ��$:��'�

����� 
 5����
� ' ��� ���'����� 2���3 h2+ ' �� ��� 4���3 �$
�������
DmO >���� �6 � ��9 ��
� �� ����'���� 
���95 �����9

<�+)
I	>J�

:
! ���(����� ��
�����������+ ������

6���� +�
� ���

�� 	�����
���	��������!��

"�2$% �� �2��
9 �'4���� � ������'��� 
 ���
�' �2� ����' ' '���
�$8
 ��95 �����4��45� "�� ���'����7 ��2$% ��4 ������6����27�� ����
����� ����' ���'$1< �� :2 
 �������� ���6 ���� ���'�
4< �� � �������
'���1 ���
� ' '���$8
 ���
 �����4���� ���6 ����6�� ���
�' -����'0 �
���6 ����6�� ���2��'�1<�5�4 � ���
�
� %����6� !���
 ������
 :� ��
��4� ��2$%� 
�4  
���%�9
 ��RS
�
 �2��
9 '  
���%��
 � 2 ���
 $�2 
-��:���6� �� ��2$% ��4 εν0 ' ����3�2��� 2���� �2� ��� �'�2 %�����

���� ����� �� ���� (ν − ν + dν)� �'�
����%�� ��'��4� �� :2 �������3
���6 ����6�� -�2� ��2��3 ���6 ����6�� �� 
90�

� �2$%� �
����
��3 �2��
9� � 
� ���$�� T � ���6 ����6�4 ���
�'
n ' ������3 �
�����'9 '� '� 
   ��R 
 � :� ���1� ��2$%� 
$1 �2��
�3
' 2���� k → i '  
���%��
 � 2 ���
 $�2 � 
�8�� �� 
���'��7 ' '�
 P

Eki = 4πGki(T, n)EM . ->�	�.0 	
�	�<��!

� 2�%���

EM = n2V ,
[
�
−3

]
, ->�	��0 	
�	���
(��
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9
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�� �����
 ��

�� ��!#$�
�( ��)���
I��J0� "���27�$4 ��� 
 2 �� ��:���6� ��� ��2$% ��4

εki = εki(T, n) -���
$2�
-.��11B�?�B���11
>����0� 
�8�� '9�����7 �$��6�1Gki(T, n) % � �

��:���6� �� ��2$% ��4P

Gki(T, n) =
εki(T, n)

n2
. ->�	�	0 	
�@����"���

!���
 ������
 �$��6�4 Gki(T, n) �� 
���'24 � ����3 ��:���6� �� ���
2$% ��4 ' 2���� k → i� ����%�����93 �� �
�� ���
� ����
������� ���
�'���4 :��3 ' 2�%��9 � �� ' �4
 ����� ����27�$ ��4 � �
�� ������
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I��J0� � 
�27� 3K 
 �$��6�1 Gki(T, n) �$�


 
 ���9'��7 �����	������� �
���������� �2��
9 ' 2���� k → i�
"���27�$1��4 � 
�$�� ��� 
 2 ��4 
 �9 :
������ � ����� 

�#&��)���
I.��J


 �� :
����� ��� 
 2 �� �2 
$1<�
 ������
P

EM∗ = n�n�V , ->�	��0 	
�	���
(��,�,�

�
 n� W ���6 ����6�4 ���
�' '�
���
�� � ���2����� �����
 ��
��
 (%��>�����
I	�J

EM∗∗ = n2
�V . ->�	��0 	
�	���
(��,�,�

� ���������% ���5 ��R ���5 '�
���
 � � 2�3 �����'241� �'9K //v
�� %��2$ ���
�'� ��:��
$ ���2�%�9 ��� 
 2 ��4 
 �9 :
����� 
�1�
�2���� ' 2�%��9� L ��� ��2$%��7� %��

EM∗ = A�EM , EM∗∗ = µ2
� EM . ->�	��0 	
�	���
�"���

]
 �7 µ� = n�/n a ����K �� :2 �������3 ���6 ����6�� � ��2��3 ����
6 ����6�� ���
�' ' �2��
 � A� = n�/n a ������� 27�� ��
 �8��� 
���
�' '�
���
� ' �2��
 � ��� ��2� %��
 ��
 �8���� :2 
 ���'

���	���������
I��J �

��2��3 ������6�� '�
���
� � � 2�4 µ� ≈ 1.2� A� ≈ 0.9�
"�
 � �� ��� 
 2 ��4 
 �9 :
����� '2 % � �� ����3 � ��
 � �� '

'9��8 ��45 
24 ��2$%�� 27��3 ����������� �2��
9 ' 2���� Gki(T, n)P

G∗
ki(T, n) =

Gki(T, n)
A�

, G∗∗
ki (T, n) =

Gki(T, n)
µ2
�

. ->�	�>0 	
�@����
�"���

���2���%�� �2$%�1 ��2$% ��4 ' 2����� :� ���4 Eνdν� ��2$%� 
�4
��R 
�
 �2��
9 V ' � �� �9'��
 �� ��� ' ��� �'�2 %����� (ν−ν+dν)

�8 � �9�7 �� 
���'2 �� ���

Eνdν = Gν(T, n)EMdν , ->�	�,0 	
�	�����

�
 Gν(T, n) W �����	�����	
 �
��������� �2��
9 ' %����� ν � �� �
�9'���� �� ����� �24 �$��6�� Gν(T, n) � ��:���6� ��� ��2$% ��4
�2��
9 ' %����� ν ' � �� �9'��
 �� ��� εν ����' 
2�'� ���� 8 
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9� �2 
$ � $%��9'��7 ��'����

���� ��:���6� ���' ��2$% ��4 ' � �� �9'��
 �� ��� �2� ' 2����
�� ��2�8 ��4 ��2$%�1< �� ��R 
�P εki(T ) = εki(T (r)) �2� εki(T, n) =
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 r a ��
�$� ' ���� ����
����'� 
�3 ��2���� �2��
9�
� :��
 �2$%� �� �2���27��3 
 �9 :
����� �2��
9 EM �2 
$ � � � 3��
� ����������	����� ����  ������� ��'��4< 3 �� �$��6�� ����� 
 2 �
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� ���$�9 � �2������� �2��
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���������� ��
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E���� 
 2 �� � �
����
��3 �2��
9 �� � 
� ���$� '� '� 
 ��2$%��
1< 
 ��R 
 V %���� ����9'� ��4 ' � �
���5 ����������	����� ����

 ������ �2� 
 �9 :
������ 
��� � �6��27��3 �� � 
� ���$� 
�� ��!#$�
�( ��)���
I��J�

�24 ��� 
 2 ��4 
��� � �6��27��3 
 �9 :
����� ����
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��
293 ��� �'�2 � 
� ���$�9 T 0 ≤ T ≤ T 0 + ∆T � �$��7 ' 2�%���

∆EM(T 0) =
∫

V (∆T )

n2 dV . ->�	�/0 	
������	�)��*

� ���
$2 -
-.�<���
-28/�9
>�	�/0 ��� �����'��� '9��2�4 ��4 ��27�� �� ��3 %���� ��2�

���� ��R 
� �2��
9 V � � 
� ���$�9 ' ������3 ��5�
4��4 ' ��� �'�2 
T 0 ≤ T ≤ T 0 +∆T � ���� � �6��27��4 
 �� :
����� �2��
9 ζ(T ) ��� �

 24 ��4 ��� �� 
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ζ(T ) = lim
∆T→0

∆EM(T )
∆T
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−3K−1
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9 ζ(T ) ��� 
 �
2 �� ����
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 V � ���
���� 
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	��8����� ��������� 1s2s3S − 1s2p3P �

��(�����4����&������

.�
 ��	�� � � � 4�����(��) 
	�

3
�
�� 11S0 ← 23S1 11S0 ← 23P1 11S0 ← 23P2 11S0 ← 21P1 23S1 ← 23PJ

6l 41.472 40.730 40.728 40.268 2271 − 2278
49 2.83E7 2.6E4 8.87E11

<lQ 29.534 29.084 29.082 28.787 1897 − 1908
250 1.4E8 1.0E5 1.81E12

WlQQ 22.101 21.807 21.804 21.602 1623 − 1640
1.0E3 5.52E8 3.3E5 3.31E12

<RQm 13.697 13.549 13.546 13.447 1248 − 1278
1.1E4 5.4E9 2.3E6 8.88E12

F`mQ 9.314 9.231 9.228 9.169 997 − 1041
7.3E5 3.4E10 1.1E7 1.95E13

O1mQQQ 6.740 6.688 6.685 6.648 815− 879
3.6E5 1.6E11 3.9E7 3.77E13

Oml 5.102 5.066 5.064 5.039 670− 760
1.4E6 5.8E11 1.2E8 6.61E13

60mQm 3.211 3.192 3.189 3.177 470− 580
1.4E7 4.82E12 7.6E8 1.65E14

R̂mml 1.868 1.859 1.855 1.850 270− 430
2.1E8 4.3E13 6.6E9 4.60E14

;���K ��4 ��� ���'���� 3 � ��� ��'���5 2���3 � 2� ��
���95 ����'

��$� �9�7 ����27��'��9 
24 ��� 
 2 ��4 5����� ������ ��2$%�1< 3
�2��
9� #� E���

, (�4�� $�����
�
>�.� -�2 '�0 �������� ��'���
���7 ����K ��4 R =

f/i �� :2 �������3 ���6 ����6�� �2��
9� �������� ����K �� 
�8 �
�9�7 ����27��'��� 
24 ��� 
 2 ��4 :2 �������3 ���6 ����6�� �2��
9
��� 1013 �
−3 ≤ n� ≤ 1016 �
−3� ;���K �� G = (f + i)/r -E���

, (�4�� $�����
�
>�.��

����'�0 %$'��'�� 27�� � ���% ��1 :2 �������3 � 
� ���$�9 T� � 
��
8 � �9�7 ����27��'��� 
24   ��� 
 2 ��4�

E �$27���9 ���2��� 2���3 � 2� ��
���95 ����' ' �� ����5 �' �

������2�� %�� ��� ���'����7 ���� < ��95 2���3 -� ����K �� f/i0 '
�� ����5 ���4%�5 �' �
 �� ����27�95 �2����' h � C �$< ��' ��� 
 �7�
K � % 
 �8�
�2��7 �9 ��� �� 
��2�8 ���� %�� �2������7 ���4% �� ����
' ��
��� ��5 �' �
� ���
��$1< �� � ��� ��'��� ��2$% �� � �2���� �
�2������� ���$8�1<�5 ���4%�3 ��� ��2  5�2�
�95 ��2��� 3 ��
��� �
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,��� 0��#� ��	�&
	�
R = f/i ��	�� �
��

� ��	��� ��	� O14+ ?��
��@ � (����������
�� n� 
�

%
#� ��
�
���
�)���
!##$� ��	�&
	�
 G = (f + i)/r  �� ��	� W6+ � (���������� �� T� ?�
����@


�
<#�
#���.#��)��)
!78$� ������4�����@���

�9
��!�������
!����2�>����E���
I	�� ��� ��� /�J� #� E���

, (�6:5� �����1
>�.> ���' 
 �9 �����2� � ��� ��'���5 2���3

� 2� ��
������ ���� hwA ' �� ��� �' �
9 ��2� %���� ���� ��� 229
-m�AAA 0 � ���
 ���3 
'�3��3 �' �
9 β �Tq -N�Zi�� C,w0� ��
��� %�� '
�� ��� β �Tq ��� ���'����7 ���� < ���3 2���� 11S0 ← 2 3S1 ���'��
�
� ��� ���'����71 ��� ���
����6������� 
$�2 �� 11S0 ← 2 3PJ �

�24 ��R4�� ��4 ������ � ��9%���� ��' 
 ��4 ��� ���'���� 3 � ���
� ��'���5 2���3 ' �� ����5 �' �
 �����5 �� ����27�95 �2����' �2 �

$ � �� 
��2�8��7� %�� 2��� �2������7 �2��
9 ' ��2���� ���
���'��
��4 � ��� ��'���5 2���3 �% �7 '9���� -ne � 1014 �
30� 2��� �$< ��'$ �
����3��� � 2 ���'�93 
 5����
 $
 �7K ��4 ��� 2 ������ $��'�4 23S1�

� �'� �� 
��2�8 �� �%��� ��4 
�2�' ��4��9
� 5��4 ' ����� 
7%��
I�J

��
 % �� '��
�8����7 ������'���4 ���4% �� �2������ ���� ' � �
���
��
�95 ��
��� ��5 ���4%�5 �'S�
 ��� ���2���' ��45 � �
����
���� 3
' ' ���5 
'�3�95 hxh �2� hx~H �'S�
�

�����4 '��
�8����7 �%��� ��4 ��2  � �27��3� �� 
��2��� ��4� %��
$27������2 ��'� ��2$% �� �' �
9 ' 2���45 ���� KS����� �? 
$27�
���2 �� 2 3S → 2 3P ���'�
�� � $
 �7K ��1 ��� 2 ������ $��'�4 2 3S1

� $
 �7K ��1 ��� ���'����� ���� < ���3 2���� 1 1S0 ← 2 3S1�

��� $% � $��������� ���6 ��� ' 2�%���

R = R0
1

1 + φ/φ& + n�/n&
, ->���,0 	
�"����������

�
 R0 W ���% �� ����K ��4 R� ��2$% ��� � � $% �� 
���2��� 27�95

 5����
�' ��$���K ��4 $��'�4 2 3S� φ W �������7 ����'���$8
 ��4
2 3S → 2 3P � φ& W �����% ��� ���% �� �������� φ� ��� ������3 ����'���
�$8
 ��4 $
 �7K�1� ' 
'� ���� ' 2�%��$R� n& W �����% ��� ���% �� 
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 /��"����� � �������
��� ��
�����������$ ������

:2 �������3 ���6 ����6��� ��� 
 2 ��� ����
 8 ������
� ��� � ' 2��
%��� φ&� "� ���$���

, (�4�� $�����
�
>�.� '�
��� %�� 
24 B14+ ���% �� n& ≈ 1014 �
−3� �

�����
 ���4
� 4
�� ���� � � ���% �� n&� ���2����� �����
 ��
%
#� ��
�
���
�)���
I��J 
24

�T24+ ���% �� n& ≈ 5 · 1017 �
−3� �����% ��� ���% ��4 n& 
24 
�$��5
����' 
�8�� ��3�� ' ����� 

��#����((���)���
I�+J�

,��� 0��0� 3��4��� ��	�� �
��

� ��	��� ��	� W6+ � �

����� C�

��, ?fPQQQR@ �
(���
		��  ���	�� β nR2 ?o8l@ 
� 	���> 
	��� 	� �
��	��
 6g0G]20

�#&��)���
!"BP$� ���
:
-

	, 
���)
	�� �
(�	�	�	,� ?2@+ �	�
������	����		�� ?1@ � (�
�
�
		�� ?p@ ��	��


�
�� �� 1s− 2s � 1s− 2p ?��� �����

/
����4�� $�,5�� ���
X�P@� ����+.&������
 

;������93 '9K :�� �� ��
��6������� ��$���K ��4 $��'�4 23S '
��
��� � �' �
9 ζ hq\ h/�>Ad ���2 
�'�� ' ����� 

E���
I/�J� #� ���$�� 

, (�4�� $�,5��
�
>�.,

�������� ��'���
���7 ����K ��4 f/i �� ������4��4 r 
� 6 ���� �' �
9
���2����

E���
I/�J�

,��� 0��1� T���������* ��	�&
	�� pY1 �� n� � �������	�� �(��:�>�
� �  �		�� ��	��
������� 
��(�,  � �
	��� (�
( , 
�

E���
!KM$� ������4����&����

!�2��9
� 8���9
� 2���4
� '9
 2 �� ��2���7 ���21
� 
95 ���% �
�� ����K ��4 f/i 
24 2���3 ����' h6+� DT8+� YZ11+ � B\12+� "� ���
�$��� '�
��� %�� $% � :�� ��� ����'���$8
 ��4 2 3S → 2 3P ���'�24 �
���2���'��7 ���21
� 
9 � � �� ��% ��� ���% ��4 f/i ��� �� 
��2��
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8 ���� %�� ���4%�3 ��� ' ��
��� � �' �
9� ���� �93 
� ≈ 107 z� 
�8 �
���
���'��7�4 '�2��� ������ �9 �' �
9�

6�.�* 0��$��
���� ������
���� 	�����

7�
��
�
���� ���#��

#����2  ������3 � %�< '� �� �2$%�1<�3�4 ��� � �
����
�����
W � 
� ���$��� � �
����
��4 �2��
�� &�2� ���2�� ��4 � 
� ���$�9
| T (r)−T |� T � �
 r W �����'�27��4 ��%�� ' ��R 
 �2��
9� T W �� 
�
�44 � 
� ���$�� �$
�������� �� :�� ���2�� ��4 
�8�� ����
����'��7
��� 
�29 �2$��$�6�� � ����27��'��7 
24 ���% �� ������' ��2$% ��4
' 2���45 � ������$$
 
 ��
��$� ����
��� ��$1 ' �$��� 

����0�
����
>�	���

�24 ��2���� �������4 ��2$%�� 27�95 �'�3��' �2��
9 
������%��

���'��7 ' ������ ����
 ���' 
�
 2� ��2$%�1< 3 �2��
9 ' 2�%��$
τ2� 5����� ���$1<$1 �
�2��$
$ �2$��$�6�3 T�� E �$27���9 ����27���
'���4 
 ��
��� ������ ����
�27�95 ����
 ���' 
24 �2��
9 � 
�29
�
�
�2��$
�
� �2$��$�6�3 T� ������9 ' ����� 

�!�+

I��J�

��2  �2�8�93 �2$%�3 �� 
���'24 � 
���������� �2��
9 � �2$��$�
�6�4
� ��� � 
� ���$�9� ��� � ���6 ����6�� ���
�'� _��� ��� � �
���
��
����� ������2�����'�� ' ����� 

�!����( ���
I.�J�

&�2� 8 ���2�� ��4 � 
� ���$�9 � �2������� �� �5 �� 
��5 ����
% ��3 � 27�4 ��2����7 
�29
�� �� � ��5�
�
� ����
����'��7 � �27�
�9 ����� 
 2 ��4 
��� � �6��27��3 
 �9 :
����� �� ��R 
$ �2���

9� � :��
 �2$%� ����� ����
 ���'� ����9'�1<�5 �����4�� �2���

9� � ��5�
�
� 
���2���7 ����
 ���
�� ����9'�1<�
� ����� 
 2 �� 

��� � �6��27��3 
 �9 :
������ ��
���93 ��
5�
 � ��
�% 
������
����� � �
����
��3 �2��
9 ������ ' ����� 

A4%��
I�/J�

'��
��
� �����
���
� ���#�� � ���
�������� �����������

) ��
��� 
���������� ������� �5 
'$5 %��� 3� � �'�4 �� ��5 a ���
���� �� 
�
 2� ��2$%�1< 3 �2��
9 a ��'���� �� ����� ����� ���2 �

$ 
��� ��R ��� � ����
����'�2��7 ' ���������5

���F�
�������0
>�	�	 �

����0�
����
>�	��� �� 
�

��2�8�
� ��:��
$� %�� 
�
 27 ��$%� 
��� ��R ��� $8 '9������ � ���
����9'� ��4 ������
 ����
 ���' {P}�

;�9%�� 
�8�� �� 
��2�8��7� %�� ��8
� ��
 27�� ��
 � �� ��
��'��$����� 3 ���21
� 
95 ������' {F "8'

l } 4'24 ��4 � ��'���
�3 �2$�
%�3��3 ' 2�%���3� ����9'� 
�3 �'� 3 �����' ���3 �2������71 �$���
6�� ����� 
 2 ��4 Pl(Fl)� ��� 
 2 ���3 ����
 ������
� %�� Pl(Fl)dFl

W ' ��4�����7 ����� %�� ��
 � ��93 ����� ' 2���� �$
 � ��5�
���4 '
��� �'�2 (Fl, Fl +dFl)� ��2��4 �2������7 �$��6�� ����� 
 2 ��4 '� 3
��'��$������ ���21
� 
95 ������' 4'24 ��4 ' �2$%� � ��'���
����
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 �� 
 ��
�'�
$�27�95 �$��6�3 Pl(Fl)P

P ({P}) = P (F1, F2, . . . , FN ) = P (F1)P (F2) . . . P (FN ) . ->���/0 	
��
����

�24 ��5�8
 ��4 ����
�27�95 ' 2�%�� ����
 ���' �$
 
 ����27��'��7

�����
 �	����	������ 
�	���
�����


%�
�&��@
I.+�J� � ' ��% ��' ������� 
�	��

��
�����
 a �$��6�1 -
-.�/���<,
>���/0� � :��
 �2$%� �
���	����� ������
 ���

��
 ���' {P}"�! �2��
9 4'24 ��4 ���� 
24 �������� �$��6�4 ���'
����

���4 
������ � 
����
$
�P

P
(
F1({P}"�!), F2({P}"�!), ..., FN ({P}"�!)

)
= max . ->���.+0 	
�������

]
 �7 Fl({P}) W ����%�����9 ������ ' 2���� l 
24 ������ ����
 ���'

�
 2� {P}�

���
�8 � � 
�$��3 ������ ������ ��4 �$��6�� ���'
���
���4 � ���
��27��'��� 
 � �2������ 3 �$��6�3 ����� 
 2 ��4� � �'����2 3 ����
�� 
 2 ��4

Qm(Fl) = P (| Fl − F "8'
l |� | F &#-&

l − F "8'
l |) . ->���..0 	
�?���

�
 F &#-&
l W ����%�����93 ' ����4��3 
�
 2� ����� ��2$% ��4 ' 2���� l�

� :��
 �2$%� �$��6�4 ���'
���
���4 Q(F1, F2, ...FN ) = Q(F1)Q(F2)...Q(FN )
� ����6�� 
����
�27���� ���'
���
���4 '9��8� ��4 ���P

Q(F1({P}"�!), F2({P}"�!), . . . , FN ({P}"�!) = max . ->���.�0 	
����?���

�� 
��2�8�
� ����'9'�4�7 �� ���2�� ����� 
 2 ��4 �K���� ��
 �
� ��4 ������' ' 2���45 �� ����' ����'95 �$
������ 3

��������
��
� ��$
����
I,.� ,�J� %�� '

��27K����' �2$%� ' 
24 �$��6�� ����� 
 2 ��4 ������' 
�8�� ���
��27��'��7 2��� ���
�27�93 �����P

P�(F ) =
1√

2π σ�
exp

[
−1

2

(
F "8' − F

σ�

)2
]
, ->���.	0 	
��� ,

�
 ����
����� ���2�� �� σ� ��'���� �� ' 2�%��9 ���21
� 
��� ���
���� F "8'� 2��� ���
�27���2������
�% ���3 ����� �� �
 < �� 
P

P 
�(J) =
(F "8'/F )√

2π σ
�
exp

[
−1

2

(
J"8' − µ
� − J

σ
�

)2
]
. ->���.�0 	
��� 4,

]
 �7 J = ln(F )� J"8' = ln(F "8')� �24 
������%�� ��27�95 2���3 '
�� ��� '��
�8�� ����27��'��� ���
�27���� ������

���
��
� ��$
����
I,�J� ���
� ��� 
24
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� � µ
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24 ����
����'� 
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��$� �9�7
����27��'��9 ������K ��4 σ
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��� n 
= n′� l 
= l′

(nl | r | n′l′) = Rnl,n′l′ =
(−1)ñ

4(2l> − 1)
×

×
√

(n+ l)! (n′ + l′)!
(n− l − 1)! (n − l′ − 1)!

xl>+1 yn�+n∗
�−1×

× {F (−n�,−n′�, 2 l>,−x)− y2F (−n� − 2,−n′� − 2, 2 l>,−x)},
n� = n− l − 1, n′� = n′ − l′ − 1,

-C�.�.0 	
������"���������
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(k + 1)x
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6(l + 1)
l>R
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1.399 · 109

2l′ + 1
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[
n−2 − (n′)−2
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λnl,n′l′ = Z−2λHI
nl,n′l′ , Rnl,n′l′ = Z−1RHI

nl,n′l′ ,
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fnl,n′l′ = fHI
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nl,n′l′ fnl,n′l′ Anl,n′l′ , �
−1 τn′l′ , ��

1s− 2p ��##" %�5�#� 6.269 · 108 ��#%
2p− 3s %�11� %�%��#% 6.320 · 106 �"1
1s− 3p %��#0 %�%0��� 1.674 · 108 "��0
2s− 3p ����� %�5�5� 2.246 · 107 *
2p− 3d ���"5� %�#�"1 6.469 · 107 �"�"
2p− 4s %��5# %�%%�%5� 2.577 · 106 ��#
3p− 4s "��0� %�%���" 1.836 · 106 *
1s− 4p %�%�� %�%��%# 6.839 · 107 ����
2s− 4p ��#55 %��%�1 9.672 · 106 *
3s− 4p ����� %�5150 3.067 · 106 *
3d− 4p ��#�# %�%�%�� 3.478 · 105 *
2p− 4d ����� %����1 2.064 · 107 �#��
3p− 4d "0���" %�#�1� 7.041 · 106 *
3d− 4f �%5�#"� ��%�1 1.380 · 108 0��"
2p− 5s %�%"� %�%%���� 1.289 · 106 �"�
3p− 5s %��5% %�%%05�0 9.950 · 105 *
4p− 5s ����#� %�%"��% 6.454 · 105 *
1s− 5p %�%55 %�%�5%1 3.474 · 107 ��1
2s− 5p %�"�� %�%5��� 4.591 · 106 *
3s− 5p "��%# %����% 1.639 · 106 *
3d− 5p %���� %�%%��%� 1.496 · 105 *
4s− 5p 0��""� %�"55� 7.376 · 105 *
4d− 5p ���0� %�%�015 1.887 · 105 *
2p− 5d %��"� %�%55�1 9.433 · 106 #��#
3p− 5d 1�1�� %����� 3.393 · 106 *
4p− 5d ����1"1 %�#%�� 1.487 · 106 *
4f − 5d ��0#% %�%%110� 5.05 · 104 *
3d− 5f ���%�5 %��"## 4.545 · 106 ��5%
4d− 5f ��0�1�� %�1�%� 2.586 · 106 *
4f − 5g ��5�%�1 ���5"1 4.256 · 106 ��"

� 2�%��� Pn′l′,nl ��'�� ' ��4������ ����� %�� ���
� ��5�
4<�3�4 ��
$��'� n′l′� ��' �K�� ��
��6����93 � � 5�
 �� $��' �7 nl�

&
+���
 A��� C��44���
	� Cnl � 4�����
 ?
4� $���
#��
o�"�8@  �� τnl �� ��� �
� ��	,� ��	�� ��(������

g k m n I ` o gp�#
[ � � �
� ���� * * * * * *
� ���" ��5� * * * * *
5 ���� ���� ���# * * * *
" ���% ���� ���" ���1 * * *

�% ��1# ���5 ���% ���� ���% * *
�% ��1" ���� ���0 ���% ��%# * *
∞ ��1� ���# ��%1 %��� %��� %�1� %��5
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;�K���9 ���% �9 ' 2�%�� τnl � Pn′l′,nl ���' 
 �9 ' ����� 
6� &>
���+�
I>�J� !�


8 
��� ��2$:
����% ��� '9��8 �� 
24 '� 
 �� 8���� $��'� 3

τnl = Cnlµ
−1Z−4n3 l2 · 10−10 (c) , -C�.�,0 ��������!��

�
 µ a ���' 
 ���4 
���� '  
���6�5 
���9 :2 ������ m� ]��% ��4

 
2 ��� 
 �41<�5�4 ��:���6� ���' Cnl ���' 
 �9 ' !��2�

/
�������
C��� �����

��K �� -
4� $���
#��
C�.�,0 ���
 ��
� � 
24 ��
� ���'���5 -n � 10 $��'� 3 � '��


���
���
���95 ���
�'�

&
+���
 A��� A
����	���� ��(�
&
		,� 

�
�� �� �� ��� � ��(����&�:�"����
n− n′ λnn′ ,J@ Ann′ , �−1 n− n′ λnn′ ,J@ Ann′ , �−1

�*� ���"�#0 4.699 · 108 �*1 �11��%" 2.215 · 105

�*� �%�"�0� 5.575 · 107 �*� �1�"��1 1.216 · 105

�*5 �0��"�0 1.278 · 107 �*�% �0�0��% 7.122 · 104

�*" �5��05� 4.125 · 106 �*�� �00%�#� 4.397 · 104

�*# ��0�1%� 1.644 · 106 �*�� �0"%��" 2.834 · 104

�*0 ��%�051 7.568 · 105 �*�� �0�5 �0 1.893 · 104

�*1 ��#���# 3.869 · 105 �*�5 �0����5 1.303 · 104

�*� �����"% 2.143 · 105 �*�" �0����0 9.210 · 103

�*�% ��%��#� 1.263 · 105 �*�# �0%��1" 6.658 · 103

�*�� �����"� 7.834 · 104 �*�0 �#�0��" 4.910 · 103

�*�� ��1���� 5.068 · 104 �*�1 �#���"" 3.685 · 103

�*�� ��0��1� 3.333 · 104 �*�� �#1#�1� 2.809 · 103

�*�5 ��#�5�� 2.341 · 104 �*�% �#1��1� 2.172 · 103

�*�" ��"�1�5 1.657 · 104 �*5 �10"��% 8.966 · 106

�*�# ��"���� 1.200 · 104 �*" ��1�1�� 2.201 · 106

�*�0 ��5���� 8.858 · 103 �*# �%��1�� 7.783 · 105

�*�1 ��5�"0# 6.654 · 103 �*0 �%%5��5 3.358 · 105

�*�� ��5��1# 5.077 · 103 �*1 �"5"��0 1.651 · 105

"*�% ��5�%�� 3.928 · 103 �*� �����%� 8.905 · 104

�*� #"#��1% 4.414 · 107 �*�% �%�5��� 5.156 · 104

�*5 51#���� 8.419 · 106 �*�� 11#��0� 3.156 · 104

�*" 5�5%�5# 2.530 · 106 �*�� 10"%�51 2.021 · 104

�*# 5�%��0� 9.732 · 105 �*�� 1##"�%� 1.343 · 104

�*0 ��0%�%0 4.389 · 105 �*�5 1"�1 5% 9.211 · 103

�*�" 1"5"��� 6.490 · 103

�24 
������%�� �2����3 �2��
9 -n>109 �
−30 ��� 2 ������ $��'� 3
������6����27�9 �5 ��������% ���
 ' ��
P gnl = 2(2l + 1)� � :��
 �2$�
%� ��'��$�����7 �����4��3 nl e ����9
� ���% ��4
� l 
�8�� ����
���
��'��7 ��� :�� ���'�93 $��' �7 n� � ��4������ � ��29 ��6�224����'
� � 5�
� n′ → n ����%��9'�1��4� ����' ���' ���� �� ���
$2�


fnn′ = (n)−2
∑
l,l′

(2l + 1)fnl,n′l′ , -C�.�/0 ������ ��"���



>
	
 +����������� ������
�� �������� � ������������ ��� �����./.

&
+���
 A�5� >����������� gi(n) � ������
������ �
����
 q
!��
 ��(���@�!������;
���
�

[
gi � � > 3
g0(n) ����% ��%01" 0.9935 + 0.2328n−1 − 0.1296n−2

g1(n) *%�5%"� *%������ −(0.6282− 0.5598n−1 + 0.5299n−2)n−1

g1(n) %�%0%�5 %�%��50 −(0.3887− 1.181n−1 + 1.470n−2)n−2

&
+���
 A�"� $���������� ��������� n′−n �������
 � ���+��/���� >�
����
 ��(����&:=�

n′ − n AKr, r−1 c
-.�(B�8#9
5����5T∗ AKr, r−1 c

-.��
#��,
��A�!����
A�����T∗ Aexact, r−1

�*� 4.50 · 108 4.703 · 108 4.699 · 108

�*� 5.41 · 107 5.577 · 107 5.575 · 107

�*5 1.24 · 107 1.279 · 107 1.278 · 107

�*" 4.02 · 106 4.127 · 106 4.125 · 106

�*# 1.60 · 106 1.645 · 106 1.644 · 106

�*0 7.38 · 105 7.572 · 105 7.568 · 105

�*1 3.77 · 105 3.871 · 105 3.869 · 105

�*� 2.09 · 105 2.143 · 105 2.143 · 105

�*�% 1.23 · 105 1.264 · 105 1.263 · 105

∗ .����

���� $ ���+�
� !�
	
�� ������
������ ��� �
����
 q
!��
�

An′n = (n′)−2
∑
l,l′

(2l′ + 1)An′l′,nl . -C�.�.+0 ������:�"����

� !��2�
/
����45�E�0� ��
C�	 
�
�
 ���% ��4 An′n ��� n � 3� n′ � 20 I.>�J� � ����2��

8 ��� ���
 ��� I>+J

fKr
nn′ =

32n
3
√

3π
gnn′

(n′)3(1 + u)3
, -C�.�..0 ������ =�

AKr
n′n =

16
3
√

3π
α4c

a0
Z4 gnn′

(n′)5n(1 + u)3
, -C�.�.�0 ������:��

�
 gnn′ W �����'�%�93 
��8�� 27 ��$���� �24 '9%��2 ��4 gnn′ 
�8��
����27��'��7 ���
$2$ -

-.�(B�8#9
����.�0 � ��
 ��3 u �� −(n/n′)2� �9��8 �� 
24

gnn′ � ' ������ '5�
4� ��27�� 6 29 �� � �� 1+u� ��2$% �� ' ����� 
A�!�������)
I�>JP

gnn′ = gn +
g1(n)
1 + u

+
g2(n)

(1 + u)2
, 1 + u = 1−

( n
n′
)2

, -C�.�.	0 	
�@�!������;
���
�

� ��:���6� ��9 gi(n) 
��9 ' !��2�
/
�����
#��,
��A�!����
C���

�24 ���'� ��4 ' ���2�
/
����45E��
C�� ���' 
 �9 ���% ��4 An′n ' ����2�8 ���

���
 ��� � ��%�9 � ��3
 ��9 ���2���� -
4� $��E�0� ��
C�.�.+0� ��
��� %�� ��%����7

:���� ����2�8 ��4 
������%�� 
24 ���������% ���5 ���2 
�'���3� �24
�2����3 �2��
9 �2 
$ � $%��9'��7 :�� ��9 
 �� '����� :�������'��
��4� �24 ��27K�5 ���% ��3 ���4
�' 4
 � �2 
$ � $%��9'��7 � 24���
'������ :�� ��9

%� $����++��
&�� (�� ���	��+�
I.++� .		J�
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&
+���
 A�#� $���������� ��������� ��/�! ���������
�� ��	��
����' �����
2p→ 1s ������������+��� ����� ��(��������:���

Z 9�� A1/2,1/2, r
−1 A3/2,1/2, r

−1 AHZ
4, r−1

� FQ+ 1.003 · 1010 1.003 · 1010 1.003 · 1010

�% SQ9+ 6.27 · 1012 6.26 · 1012 6.269 · 1012

�% BY19+ 1.01 · 1014 9.88 · 1014 1.00 · 1014

�# ]Q25+ 2.88 · 1014 2.84 · 1014 2.86 · 1014

�% \[29+ 5.10 · 1014 5.08 · 1014 5.08 · 1014

5% \R39+ 1.60 · 1015 1.60 · 1015 1.60 · 1015

"% a[49+ 4.00 · 1015 3.80 · 1015 3.92 · 1015

"# AY55+ 6.30 · 1015 6.00 · 1016 6.16 · 1015

0� FI71+ 1.80 · 1016 1.60 · 1016 1.68 · 1016

1% F`79+ 2.70 · 1016 2.30 · 1016 2.57 · 1016

�% do89+ 4.39 · 1016 3.60 · 1016 4.11 · 1016

�5 Gs93+ 5.20 · 1016 4.30 · 1016 4.89 · 1016

��� ��27K�5 ���% ��45 Z �2 
$ � ��
 27�� ����%��9'��7 ' ��4����
��� ��
��� ���' J −J ′ � � 5�
�' nl−nl′� ���' 
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24 ��
��� ���' 1/2− 1/2 � 3/2− 1/2

� ��������3 2���� 1s−2p '�
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���95 ����'� '9%��2 ��9 � $% �
��
 � 24��'������5 :�� ���'

�
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�

���% ��4
� ' ��4����� 3 
24 '�
���
� W AHZ
4�
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24 �% �7 ��27K�5 ���% ��3 Z� �� ��
��9 ���������% ���5 ��R ���' ��� 
 241��4 ����
� � Z � 26 ÷ 28�
��:��
$ 
�8�� ����27��'��7 � � 24��'������ ' ��4������ � � 5�
�'
n− n′ � nl − n′l′�

F
� ��&��������� ������
�� &�� �
��� '����

���'� �� *� 
��� �� 
24 ���
� XT ��%�� � � K� ��4� ��:��
$
���% ��4 fik � Aik 
24 � 2�4 � � 2� ��
���95 ����' �� � ��5�
�
����
����2�8 ��9� �������%�� ��%�9 ��29 ��6�224����' � � 5�
�' n1,3L−
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� XT ��2$% �9 ' ����� 

�
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� 3 ��%����71 .v� 
24 ��27K����'� � � 5�
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41S
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21P
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31P
1

41P
1

41D
2
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2

n=2

n=3

n=4

S=0

584 Α (21.22 эВ)
20581

7281

6678

5015

∆n = 0

n     1
n     2
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n
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/R+ PB�B "B�B - P�M "�K -"7�7 F`5+ "8X�U 7P�" -"#�B M�K -#P�"
6 ""�7 M�U -"M�U "#�U -"P�" F`6+ ##P�U #P�P -8�P B�" -"M�8
6+ #B�B "M�U -K�U #�P -"U�P F`7+ #MM�U "B�P -B�M "�8 -8�P
62+ BX�K #7�# -X�B #�P -"K�B F`8+ 7#8�U "X�" -7�M #�X -""�P
62+ MB�P 8�# -#�X "�B -M�M F`9+ 7MX�U "U�U -7�U "�B -M�8
64+ 7K#�U #U�B -M�" B�P -"8�U F`10+ "XM#�U ##�B -X�" B�" -"8�K
65+ BKU�U "#�# -7�K "�K -"U�7 F`11+ "KM7�U "#�M -B�# "�K -"U�B
< "B�P "K�P -7U�P "P�U -#K�U R̂ X�K 7�K -"�7 U�B -"�K
<+ #K�M #"�U -K�U P�7 -##�P R̂+ "M�# KU�U -MU�U U�# -8M�U
<2+ BX�B "M�U -X�P #�7 -"U�U R̂2+ 7U�X 7#�X -"U�B "�U -"P�8
<3+ XX�P "X�M -7�8 #�8 -"7�M R̂3+ PB�8 7K�K -"#�X "�# -"K�7
<4+ KX�K "U�P -7�7 "�B -X�X R̂4+ XP�U 7M�P -""�M "�" -"X�M
<5+ PPK�U #U�8 -M�7 B�B -"8�# R̂5+ KK�U 7U�M -K�X "�U -"B�8
<6+ MMX�U "#�7 -B�U "�K -"U�7 R̂6+ "#P�U ##�" -X�U U�X -"U�X
W "7�M K�P -"X�P "#�P -"K�P R̂7+ "P"�U ""�M -7�X U�B -P�M
W+ 7P�" #P�U -8�U 8�B -#K�P R̂8+ #7P�U MK�K -#7�X K�P -P"�X
W2+ PB�K #P�U -X�U P�U -"8�U R̂9+ #M#�U PX�X -"8�M X�8 -BU�7
W3+ XX�B "P�U -P�U #�# -"U�P R̂10+ #KU�U BP�M -"7�K M�# -7U�U
W4+ ""B�U "M�B -7�U #�K -"#�U R̂11+ 77"�U 77�B -K�X B�M -#U�8
W5+ "78�U "U�B -7�7 "�B -X�B R̂12+ 7M"�U #"�7 -P�K 7�U -"#�M
W6+ X7K�U #"�# -M�P B�7 -"8�B R̂13+ 7K#�U K�" -#�M "�B -P�M
W7+Q 8X"�U "#�7 -B�U "�K -"U�7 R̂14+ BPX�U "K�8 -P�X #�" -""�K
<R #"�M BU�U -B#�U "8�U -PM�U R̂15+ BKU�U K�U -#�M "�U -P�B
<R+ B"�" 7X�U -77�U "P�P -BM�U R̂16+ "#MP�U 8#�# -#M�B M�" -BK�8
<R2+ M7�P 77�U -"X�P ""�# -77�U R̂17+ "7P8�U M8�P -##�U P�" -B"�P
<R3+ KX�" 7B�U -"U�U X�P -#P�U R̂18+ "BPM�U PB�8 -"X�M B�" -77�#
<R4+ "#M�U #P�P -8�P B�P -"M�8 R̂19+ "P8#�U B"�" -"7�# 7�" -#B�K
<R5+ "P8�U "B�P -B�M "�K -8�P R̂20+ "M8K�U #X�B -8�8 #�U -"M�M
<R6+ #UX�U "M�P -7�" #�8 -""�B R̂21+ "XKK�U "7�X -B�B "�U -8�7
<R7+ #7K�U "U�" -7�" "�B -X�" R̂22+ "KPU�U "K�# -P�7 #�X -"#�7
<R8+ ""KM�U #"�K -M�8 B�# -"8�X R̂23+ #UBP�U K�7 -#�M "�B -P�8
<R9+ "7M#�U "#�P -B�" "�K -"U�B R̂24+ 88#8�U #B�8 -8�B 7�8 -#U�U
F` X�M "8�U -"�U U�M -B�U R̂25+ K#X8�U "7�U -B�P "�K -"U�M
F`+ "P�U K�U -7�M U�7 -P�B
F`2+ 8U�" PP�P -#B�" "8�X -MP�U
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a�	 a	�
���� t = T�/10
4S A, �y3/E B C D

���������������� �����������  !

/R1+ " "�KZ-"P U�U U�U U�U
/R2+ " "�MZ-"7 U�U U�U U�U

61+ " "�BZ-"X U�U U�U U�U
62+ U�P-P "�MZ-"7 #�8 7PU�U -B�#
63+ U�P-P 7�MPZ-UK U�#P U�U U�U
64+ U�"-" X�MZ-"U "�B U�U U�U

W1+ U�U"-7 "�UZ-UK U�U -U�MM -K�7
W2+ U�P-P 8�UZ-"U U�B7 U�U U�U
W3+ U�P-P 8�PZ-"U U�BB U�U U�U
W4+ U�"-7 7�"Z-"U U�BB U�U U�U

<R2+ " �"�UZ-"B U�U U�U U�U
<R3+ U�P-P P�XZ-UK U�P" U�U U�U
<R4+ U�"-7 M�MZ-UK U�P# 7�7 -P�7

F`2+ U�"-7 K�UZ-"B U�U U�U U�U
F`3+ U�"-7 M�MZ-UK U�P# #�X -8�U
F`4+ U�"-7 M�MZ-UK U�P# 7�7 -P�7

O12+ U�U7-"U P�UZ-UK U�#8 U�U U�U
O13+ U�"-7 B�"Z-"U U�U U�U U�U
O14+ U�"-7 #�BZ-UK U�U U�U U�U

O1+ " �7�UZ-"P U�U U�U U�U
O2+ U�"-7 "�UZ-"B U�U U�U U�U
O3+ U�"-7 #�7Z-UK U�U "�#P -P�8
O4+ U�"-7 X�UZ-UK U�U "�#P -P�8

_22+ U�"-7 "�UZ-"B U�U U�U U�U
_23+ U�"-7 B�BZ-UK U�7 U�U U�U
_24+ U�"-7 M�PZ-UK U�87 K�B U�U
���������������� �����������  !"

62+ " �"Z-"U U�U U�U U�U
63+ U�"-7 B�MZ-"" #�U U�U U�U
64+ U�"-7 "�UZ-"B U�U U�U U�U

<2+ U�"-7 7�7Z-"U U�#K "�7 -B�P
<3+ U�"-7 "�PZ-"U U�U U�U U�U
<4+ U�"-7 "�XZ-UK U�U #�P -7�X

W2+ U�P-P #�UZ-"U U�KP U�U U�U
W3+ U�"-7 "�UZ-UK U�U "�#P -P�8
W4+ U�"-7 M�BZ-"U U�U #�U -P�P

<R2+ U�"-7 "�UZ-"B U�U U�U U�U
<R3+ U�"-7 "�UZ-"B U�P" U�U U�U
<R4+ U�"-7 "�XZ-UK U�P# 7�7 -P�7
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F`3+ U�"-7 X�PZ-"U U�U "�#P -P�8
F`4+ U�"-7 #�#Z-UK U�77 U�88 -"�8P

O13+ U�"-7 K�PZ-"U U�XP U�U U�U
O14+ U�"-7 "�#Z-UK U�U U�U U�U

O3+ U�"-7 "�"Z-UK U�PM U�U U�U
O4+ U�"-7 X�MZ-"7 U�7# 7�B -P�#P

_22+ U�"-7 "�7Z-"U U�U U�U U�U
_23+ U�"-7 "�UZ-"B U�U U�U U�U
_24+ U�"-7 "�UZ-UK -U�7 U�U U�U

#������������ �����������  !+

W0 U�U"-"U K�"Z-"U U�U "U U�U"KM

F`1+ "-7U X�MZ-"B U�U U�U "�BB

O10 " "�UZ-"" U�U U�U U�U7
O11+ U�PU-"U "�XZ-UK U�7# U�U #�XB

S0 " "�UZ-UK U�U U�U U�U

#������������ �����������  !"+

61+ U�PU-P P�UZ-"# #�U U�UX M�#K

<1+ "-7U 7�XZ-"# #�" U�UM7 "�BB

O11+ "-7U "�PZ-"U U�#B U�U M�K"
O12+ "-7U "�PZ-"U U�BB U�U 8�88

O1+ "-7U #�8Z-"" "�# U�U7M K�#
O2+ "-7U "�BZ-"" "�M U�UBM "U�P

_21+ "-7U "�"Z-"U U�U U�U 7�UB
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a�	
N�
- m+ m2+ m3+ m4+

�
	� k0 α k0 α k0 α k0 α

mi+1 + /0 → mi + /+

6 3.87·10−19 "�MB 1.90·10−19 "�M8 3.20·10−10 U�#M 1.93·10−15 "�B
< 1.00·10−12 "�B 2.10·10−10 U�"P7 3.56·10−12 U�X7 2.08·10−16 "�X7
W 6.80·10−10 U 1.09·10−11 U�BM 1.47·10−10 U�BB 1.07·10−12 U�M
<R U U U U 4.90·10−11 U�P# 5.51·10−11 U�P#
F` U U 4.80·10−11 U�P7 4.80·10−11 U�P7 6.60·10−09 U
O U U 5.00·10−09 U 2.80·10−10 U�UB" 6.40·10−10 U�"B
O U U 1.00·10−14 U 1.64·10−09 U�U7X 2.07·10−09 U�"#B

mi+1 + /R0 → mi +/+

6 U U U U 1.03·10−17 "�MX 1.00·10−14 U
< U U�K 2.30·10−11 U�#K 1.39·10−12 U�B8 7.35·10−09 -U�"B
W U U U U "�UU-UK U X�BU-"U -U�U"7
<R U U 1.00·10−14 U 1.00·10−14 U 1.39·10−11 U
F` U U U U 5.40·10−10 U�U7P 1.10·10−10 U�77
O1 U U U U 2.70·10−12 U�MB 6.30·10−10 U�UX
O U U U U 3.00·10−12 U�MB 3.94·10−14 U�7#

mi +/R+→Xi+1 + /R
k1 α ∆E ?�A@

F`+ M�MPZ-"B U�U# "�BB
O1+ "�B7Z-"" U�#M M�K"
O12+ X�"UZ-"X "�PB M�88
O+ "�8UZ-"P "�U7 K�"X
O2+ 7�"7Z-"X "�BU "U�BX


